TH6EE 1AERMETFRE SRHEFR

(B4 FH)

= & #IE | #HIERTDEE WIE%E &t
— fi% 3 &t E55 10,540,730 229,991 10,770,721
E R @R RRKEF =G 1,900,473 1,900,473
BHEmEERNN R 272,612 272,612
mTERKRE NS G 1,155,031 1,155,031
NEY—EXERSE 38,362 38,362
MK REFRNRE 36,440 36,440
#w & &t 13,943,648 229,991 14,173,639




O—lEt ESERWEFPH MAREHR

(B FH)

= =] FHERTOEE| 4 1E %8 Hi HEEDOELRNE
1 HT i 4,952,747 4,952,747
2 W A E 5 i 58,600 58,600
3 M F B OX O+ &£ 1,673 1,673
4 B OH B X F £ 14,000 14,000
5 HKAFEBEFRKIIXRMGE 15,000 15,000
6 EABFEBRIME 103,806 103,806
7 MAHEEBRIXMGE 655,000 655,000
8 BEBHEMEgIAXMTR 6,000 6,000
9 1 A B Fl X T & 130,127 130,127
10 # A X f H 1 1
1 XBEREMFHIX AR 3,000 3,000
12 #EERUVEHESE 101,547 101,547
13 FAHMRTFHH 62,752 62,752
4 B E X H % 1,771,447 59,499 1,830,046 - Wil i E A X IB S AL TR RS
15 & 53 H oo 821,276 492 821,768 - EHE LU Y RAE
16 Bt I3 I A 29,331 29,331
17 & 5} oo 282,101 170,000 452101 - 5% & LM S
18 #& A & 584,582 584,582
19 #& 24 o 463,112 463,112
20 3 1 A 148,528 148,528
21 H & 336,100 336,100

m A& E 10,540,730 229,991 10,770,721




O—lit ESEREFPH mMHERFR

(BB FH)
7 £l fHIERTDRE| 4 IE 2 &t HERBEODELRNE
1 & = b= 84,318 84,318
2 % # | 1777507 82004 1859511| pms AR
3 R £ E= 1 3,920,719 59,726| 3,980,445| - Wil bt is B A IR EEE
4 4 E= 714,902 714,902
5 % & 7 2,851 2,851
6 B M K E ¥ & 104,064 104,064
7 B I & 39,594 39,594
8 = PN & 850,007 850,007
9 H ;] & 544,667 544,667
10 #% B 7 1,584,348 1,584,348
"nm X F #® 1B & 0 0
12 2 & 7 489,247 489,247
13 & 52 H o 418,506 88,261 506,767| - &%
14 ¥ i & 10,000 10,000
A = 10,540,730 229,991 10,770,721




